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Instructions for the Candidates

1. Write your Hall Ticket Number in the space provided on the top

of this page.

2. This paper consists of hundred multiple-choice type of questions.

3. At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number

should be entered in the OMR Sheet and the OMR Sheet

Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the circle as indicated below on the

correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle or half circle or semi circle in the Answer Sheet, it will not
be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.
The candidate must handover the OMR Answer Sheet to
the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
The candidate is allowed to take away the carbon copy of
OMR Sheet and used Question paper booklet at the end of the
examination.

0. Use only Blue/Black Ball point pen.
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1. Who was associated with Russel Sage

g

5‘5;’:@ 581;
Paper — Il

s =i

SOCIAL WORK

1. 52 08 T°IS° M S ek Fowded

foundation from the following ?
(A) Mary Richmond

(B) Sarah Fernandiz

(C) Octaria Hill

(D) Garten

Assertion (A) : Social Work values and
Principles are important
for the practice of Social
Work.

: Social Work Principles
are the guidelines for
practice of Social Work.

(A) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(B) (A)istrue and (R) is false
(C) Both (A) and (R) are true
(D) (A) is false and (R) is true

Reason (R)

. Arrange the sequence and find the correct

answer from the following in the context of
Social Work professional development.

i) Charity
i) Empowerment

iii) Welfare
iv) Religious Reforms

0022080WD T8 ?
(A) 208 852500&
(B) Jroe oo
(C) esfoar s
(D) oS

. D5vesss (A) 1 NG 56), @80 Dokomdd

FIS 58), Joodenr drEres
;5332;35 S00205.

D NS 58, drres NG
38y @rg, D0 B oyoGdS
BPEo,

(A) (A) 50805 (R) 585 (R), (A) G308,
OGS D5Ed 5

(B) (A) 506056 520 (R) 5050 570
(C) (A) 500050 (R) Bocir 5352
(D) (A) 5356 s7e 58050 (R) 50580

6220 (R)

o~ o~

. (@08 PSS 98, Do’ 5+ (Bod eoEhed

HE ES008° T, §&y MHBoS0d.

O3

)
)
)
)
)
)
)
)

v) Development

(A) i i i v v
B) iv i v
C) i v i i
D) i iv v

)
)
)
)
A i i v v
)
)
)

v
iV

v
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4.

g

Sir Dorabji Tata Graduate School of Social
Work was established in the year

(A) 1936 (B) 1938
(C) 1934 (D) 1939

The following are parts of culture

(A) Individual, group, organisation

(B) Traits, complexes, patterns

(C) Variation, assimilation, innovation
)

(D) Norms, groups, societies

. A nuclear family consists of

(A) Spouses with parents
(

)
B) Three generations living together
(C) Spouses and their children

)

(D) Two or more brothers with their
families

. Assertion (A) : Growth of population

in urban areas is
leading to an increasing
Urbanisation today.

: Urbanisation is also a
result of diffusion and
growing dominance of
an urban way of life.

(A) Both (A) and (R) are true and (R) is
not an explanation of (A)

(B) Both (A) and (R) are not true
(C) (A) is true but (R) is false
(D) (A) is not true but (R) is true

Reason (R)

4. 26 S'oefe erer goRerel @ PR 98,

EPE0ROND [BOBEB[0
(A) 1936
(C) 1934

(B) 1938
(D) 1939

5. 52 G0t gadod 5o dE armres

(A) 258, DBorTro, H5939
(

(C) &ores, MBS, 3T

)
B) ogeren, esdr@rds eraren, S5t
)
(D) doxrhoren, SRorrten, Doveren

6. 55?23%0&)5 5¢00208°

(A) arosg eigwo, 708" BOGoE®

)
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(C) &0 23500 370 oo
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(D) (A) $o55 57ei 50 (R) 585
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8.

10.

g

Match the following :

a) Assimilation I) Social
process
b) Socialisation II) Social
heritage
c) Culture [Il) Process of
learning
d) Co-operation IV) Processin
and conflict culture
a b c d
(A) IV |
@) n v [
) m 1 v 1
(D) Nl I v

. Social integration and Co-operation are

components of

I) Social process

Il) Social order

[Il) Social control
IV) Social development
Choose the correct answer.
(A) land I (B) lland 1l
(C) Mand IV (D) land IV

Match the following Pairs.

a) Sigmund i) Hierarchy of
Freud needs

b) Erich Freium i) Child

Development

c) Abraham i) The
Maslow Unconscious

d) Elizabeth iv) Freedom
Harlock
a b ¢ d

(A) i v

(B) iii v i ii

(C) i i v

(D) iv i i i

8. (808 T3 eBBEBIB.

a) WBIS [) J=50es (HEahH
b) Jrod0dssersos 1) Srodos
TR0
C) X0y, )@ ) exgssemd ©Eok
d) SFsdo 50000 V) Hoky, 38 Rdan”
e
a b c d
(A IV 1l
@11 v 1o
©m 1 v
oyn 1 v o

9. Jromo8 %5 HoO0KL HTTEH0 B
90BN

[) Jroand HEahH

1) Sroand EkHokm
) Fmsres Jokoes
IV) Qoo ef5y
(A) 150850 I (B) 1l 508050 I
(C) I 0805 IV (D) I 506050 IV

10. 5+ 200 T eBBC)H00.

a) ek Erowé i) 53070 esQBHgE
b) 285 grso i) DI TIeTI00eT
C) oo Jrdf i) & e@d5PonER
d) 20238 56rE  iv) SgoEshm
a b c¢c d

(A) ii v

(B) iii iv i ii

(C) i i i v

(D) iv i i [
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11.

12.

13.

14.

g

Which of the following is not a defense
mechanism ?

(A) Sublimation
(C) Projection

(B) Rationalization
(D) Confrontation

Desensitization Technique is a

(A) Communication Technique
(B) Counselling Technique
(C) Case Work Technique
(D) Therapeutic Technique

Down’s syndrome is otherwise known as

(A) Alzheimer’s disease
(B
(C
(D

Mongolism

Hansen’s syndrome

)
)
)
) Marasmus

Consider the following statement and
answer according to codes given below.

Assertion (A) : Parents have to satisfy
the physical and
emotional needs of
their children for healthy
development of their

personality.

Sometimes parents
are preoccupied with
their intra-psychic and
inter- psychic problem.

Reason (R)

(A) (A) is correct where as (R) is wrong
(B) (A)is wrong where as (R) is correct

(C) Both (A) and (R) are correct
(D) Both (A) and (R) are incorrect

11.

12.

13.

14.

52 1808 TAS° DO ETy 05°Veso T ?
(A) D8RS
(C) &ass

(B) E5:58858
(D) 55508558

E2NDEIS B edm
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(D) (A) 5506500 (R) Bociar &9y
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15.

16.

17.

g

Professional relationship in case worker
has following components answer in
codes

i) Accurate empathy
ii) Non possessive warmth
iii) Generousness
Choose the correct answer
(A) (i) and (iii) (B) (ii) and (iii)
(C) (iii) and (i) (D) (i) (ii) and (iii)

Match the following theories with their
proponents. Answer in codes.

Theories Proponents
a) Phenomenologicali) Skinner
b) Psychoanalytical i) Maslow
c) Motivational iii) Carl Rogers
d) Learning iv) Sigmund Freud
a b c d
(A) ii [ i v
(B) iii v i i
(C) iii v i
(D) i i i v

Arrange the following stages of
Psychosexual development of the
individual personality in sequence give
your answer in codes.

i) Phallic stage

ii) Oral stage

iii) Anal stage

iv) Latency period
a b c d

(A) iv i i

(B) i iii v

(C)ii v i i

(D) i i il v

15.

30 50,6 B0, HBBSED Dowogtnd” B
od ©08i0e0 &Y. Sreriso 868" dotod.

i) 25:8e5 o3
i) Qs8R0 @Ko
i) Dezroood
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16. 5+ (208 773D eBBTBOSW, §&S° Mdosod.
B85 0y
a) HTEASTRES i) 20
b) 2EesdedsS i) S0P
C) IS iii) 5°6 Sesy
d) 8&y0h iv) ol groné
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(A) i i i v
(B) i v i i
(C) iii v i
(D) i i i v
17. 59§00 erog wdH ST SENE eod)

E6)8° 23550 39508
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iii) D5 ¢
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a b ¢ d
(A) iv i Qi
B) i Qi i iv
C)ii v i
D) i i i v
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18.

19.

20.

g

Consider the following statements.

Assertion (A): The case worker uses
community Resources to
enable the client to solve
his problem.

Reason (R) : The society has an

obligation to provide
necessary facilities for
self actualization of its
members.

(A) (A)is correct where as (R) is
incorrect

(B) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(C) (A) is incorrect where as (R) is
correct

(D) Both (A) and (R) are incorrect

Which of the following is not a principal of
group work ?

(A) Progressive program experiences
(B) Specific objective
(C) Group experiment planning

)

(D) Continuous evaluation

““Group Experience and Democratic
Values” is written by

A) Grace Coyle
B) G.H. Mead

(@
(D) G. Konopka

(
(

Kurt Lewin

)
)
)
)
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21.

22,

23.

g

Assertion (A): Social control is the
processes by which the
group as a whole gains
sufficient compliance
and conformity from its
members to enable it
to function in orderly
manner.

: Social control can be used
by workers and members
to gain compliance
from demand group
members.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
)
)

Reason (R)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Which of the following group work model/s

is considered as clinically oriented from
the followings ?

a) Social Goal Model
b) Remedial Model

c) Reciprocal Model

d) Social Action Model

(A) Only aandb

(B) a,bandc
(C) Only b
(D) Only a, c, d

Who first enunciated the principles of
community organization ?
(A) Edvard Lindman

(B) Gisila Konopka

(C) Dorothea Dix
(D) M.G.Rass
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24.

25.

26.

g

The roots of PRA technique can be traced
in the writing of

(A) Antonio Gramci
(B) Paulo Faire
(€)

(D)

Blummer
Britto
Rothman has given their models of

community organization which are as
following ?

a) Locality development

b) Social planning

c) Community development

d) Social action

Find the correct answer

(A) a,c,d (B) a,b,c
(C) a,b,d (D) b,c,d
Assertion (A) : Social action in mars

betterment through propaganda and
social legislation.

Reason (R) : Multiple strategies is not

one of the principle of

Social Action.

In the context of the above statements,

which one of the following is true or false ?
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

10
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27.

28.

29.

30.

g

Which of the following is not the principle
of Social Action ?

(A) Principle of Multiple Strategies

(B) Principle of Resource Mobilization
(C) Principle of Dramatization

(D) Principle of legitimization

When a null hypothesis is rejected when
it is true, the decision is called

(A) Sampling Error

(B) Non-sampling Error

(C) Type Il Error

(D) Type I Error

The variable that is explained is called
(A) Dependent variable

(B) Independent variable

(C) Control variable

(D) Intervening variable

“Older persons who participate in informal
social activities have lower life satisfaction
than those who participate in formal social
activities”.

(A) Non-directional hypothesis

(B) Complex hypothesis

(C) Directional hypothesis

(D) Composite hypothesis

11
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31.

32.

g

Match the following for their association :

List -1 List-1I
i) H.M. Blalock 1) Research
methods for
Social Work
i) Monette D.R.  2) Social Work
Research
iii) Rubin and 3) Social
Babbie Statistics
iv) N.A. Polansky 4) Applied Social

Research : Tool
for the Human

Service
Codes :
i ii i iv
A 3 4 1 2
B) 3 4 2
) 2 1 3
(D) 3 2 1

Consider the following statements and
select your answer according to the codes
given below :

Assertion (A): It is advantageous to
use standard in scales
that have been used
successfully to measure
constructs in pervious
studies.

Reason (R) : It is easy to collect data

and process it for further
analysis.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are not true

(C) (A) is true and (R) is the correct
reason

(D) (A) is true and (R) is not the correct
reason

12
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33. The following are pre-requistites in order
to register a social welfare organisation.

a) Good intention and social
consciousness

b) A memorandum of Association
c) A group of individuals

d) Aims and objectives of the
association

Choose the correct answer
(A) a,b,andc (B) b,candd
(C) a,bandd (D) a,candd

34. Match the following for their association.

List — 1 Act List - Il Year
of Enactment
i) Societies a) 1882
Registration Act
ii) Indian Trust Act b) 1860

i) Indian Companies Act c¢) 1956
Choose the correct answer for the

following :

i i il
(A) b a ¢
(B) a b ¢
) b c a
(D) ¢ b a

35. The acronym POSDCORB was given by
(A) Friedlander (B) Luther Gullick
(C) Trecker (D) Karl Pearson

36. Social Welfare Administration is a
(A) Primary Method of Social Work
(B) Secondary Method of Social Work
(C) Tertiary Method of Social Work
(D) Not a Method of Social Work

g 13
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37.

38.

39.

g

Arrange the following in the correct
chronological order by their date of
commencement.

(A) UNCRC, POCSO Act, Domestic
Violence Act, and J. J. Act.

(B) UNCRC, Domestic Violence Act,
POCSO Act, and J.J. Act.

(C) UNCRGC, J.J. Act, Domestic Violence
Act, and POCSO Act.

(D) UNCRC, J.J. Act, POCSO Act and
Domestic Violence Act.

Welfare state is a state which is

(A) Liable to conduct elections every five
years involving its adult citizens

(B) Liable to promote a regulated economy
based on capitalism

(C) Liable to ensure basic existence and
social security for its citizens

(D) Liable to ensure utmost security and
welfare of elected leaders

Assertion (A): Indian constitution
authorises the state to
make special provisions
for weaker sections of
society.

Reason (R) : People belonging to

weaker sections require
special attention of the
state.

(A) Both (A) and (R) are correct but (R) is
not the correct explanation of (A)

(B) (A)is correct and (R) is wrong
(C) (A) is wrong and (R) is correct

(D) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

14
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40.

41.

42,

43.

44.

g

Where can one file a Public Interest
Litigation ?

(A) Either in the Supreme Court or in the
High Court

(B) Only in the High Court
(C) Only in the Supreme Court
(D) In any Civil Court in India

Which one of the following is not a relief
which the victim can apply for under the
Domestic Violence Act ?

(A) Protection order
(B)
(€)
(D)

Residence order
Custody order
Imprisonment order

World summit for social development held
in 1995 was held at which place ?

(A) Mexico
(C) Nairobi

(B) Copenhagen
(D) Dublin

HDI stands for

(A) Human Development Information
(B)
(C)
(D)

Human Development Index
Historical Development Index
Housing Development Information

Which of the following book is written by
James Midghay ?

i) Social Development Theory and
Practice

i) Communication for Development
Theory and Practice for Empowerment
and Social justice

iii) Social Welfare for Global Era

)
iv) Social Welfare in Global context
(A) i, ii and iii (B) i, iii and iv
(C) i, iii and iv (D) i, ii, iii and iv
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45.

46.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A): End poverty in all its
forms everywhere is one
of the aims of sustainable
development goals.

Reason (R) : High poverty rates

are often found in small,
fragile and conflict
affected countries.

In the context of the above statements,
which one of the following is true or false ?

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

What is the correct definition of
demography ?

(A) The study of size, density and
distribution of the human population

(B) The study of the size of the human
population

(C) The study of distribution of the human
population

(D) The study of size, density and
abundance of human population

Read the passage below and answer the
following questions (47-50) as per the
understanding of the passage :

g

Guidelines on Arrest

It is widely believed that there are rampant
violations by police in India while taking
people into custody. The number of
custodial deaths has also been alarming.

16
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47.

g

The Supreme Court of India examined
whether its eleven guidelines issued in
1977 were being observed in letter and
spirit by police while making arrests. The
amicus curiae prepared thirteen questions
and selected nine states as a sample to
analyse whether the guidelines for arrest
were complied with by the police or not.
The police were required to display the
Supreme Court guidelines in the English,
Hindi and regional language in the police
station. No one is permitted to be kept
in a police station without effecting the
arrest, and arrest has to be effected only
if there is sufficient prima facie evidence
available against the person. The area
magistrate has to be informed with details
of the arrest and the accused has to
be permitted to meet his lawyer during
interrogation. Reports were sought from
states for the duration of three years
in which the states were required to
answer about the instances of violation
of guidelines and the nature of action
against the police officials. The states
were also required to provide information
about arrest of persons below 18 years,
women and total deaths in custody.

When can a person be kept in police
station ?

(A) After FIR is registered
(B) After arrest is effected

(C) After area magistrate gives
permission

(D) Only after amicus curiae is formed

17
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48.

49.

50.

51.

g

Who has to be informed with details of the
arrest ?

(A) The area magistrate
(B) The amicus curiae
(C)
)

(D) The lawyer of the accused

The Complainant/Victim

Who is an ‘amicus curiae’ ?

(A) An officer appointed by the police to
help the police

(B) A person who volunteers to help the
police

(C) A representative on an NGO to help
the accused

(D) A person appointed by court to help
the court

When can arrest be effected ?
(A) As soon as the FIR is registered

(B) Only if there is prima facie evidence
against the accused

(C) If the accused has criminal
background

(D) If the area magistrate gives
permission

Match List — I with List — Il and select the
correct option from the codes given below :

List -1 List—1lI
a) 250 workers i) Welfare officer
b) 500 workers i) Safety officer
c) 150 workers iif) Lunch room/

Rest Room

d) 1000 workers iv) Canteen

a b c d
(A) i i i v
(B) iv i [ i
(C) iii [ iv i
(D) iv [ iii i
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52.

53.

54.

55.

g

Arrange them in a sequential order as they
appear in the Factories Act.

i) Health
) Welfare
i) Safety
iv) Annual leave with wages
(A) i i i v
(B) i i i iv
(C) i i iv i
(D) iv i i i

What is the maximum gratuity payable
to an employees under the payment of
gratuity Act ?
(A) 10 Lakhs
(B) 15 Lakhs
(C) 20 Lakhs
(D) 25 Lakhs

One of the following is a non-statutory
welfare measure in a factory

(A) Housing
(B)
(C) Canteen
(D)

Creche

Lunch room/ Rest room

What are the Daily and Weekly hours the
workman has to work in Factory under the
Factories Act ?

(A) 9 and 48 hours
(B) 8 and 48 hours
(C) 10 and 48 hours
(D) 7 and 46 hours

19
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56.

57.

58.

59.

g

What is the maximum bonus payable
under the payment of Bonus Act of 1965 ?

(A) 21,000 (B) 10,000
(C) 24,000 (D) 15,000
In one of the following appraises allows

one aspect of appraise to influence the
entire appraisal

(A) Halo Effect

(B) Too lenient

(C) Bias

(D) Error of judgement

In Which year Industrial Employment
(Standing orders) Act was enacted ?
(A) 1946 (B) 1948
(C) 1950 (D) 1952
Match List — I with List — Il and select the
correct option from the codes given below :
List -1 List -1l
a) Workmen’s i) 1965
Compensation Act
b) Employees i) 1948
State Insurance
Act
c) The Payment i) 1972
of Gratuity Act
d) The payment
of Bonus Act iv) 1923
a b c d
(A) v i i [
B) iv il ii i
C) i i iv i
(D) i iii iv i
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60.

61.

62.

g

Match List — I with List — Il and select the
correct option from the codes given below :

List -1 List—1lI
Name of Political Party
Federation
a) AITUC i) Bharatiya Janatha
Party (BJP)
b) CITU i) Communist Party of
India (CPI)
c) INTUC iii) Indian National
Congress (INC)
d) BMS iv) Communist Party
Marxist (CPM)
a b c d
(A) i iv iii i
(B) i i iv [
(C) i i ii iv
(D) v i [ i

The Psychiatric social worker working
with a geriatric patient has to take up the
following issues. Answer in codes :

i) Psycho-education on Health problems
related to old age

ii) Psycho-social Management of the
Aged person

i) Welfare measures available for the
Aged in India.

iv) Economic analysis of client’s family
A) iandii B) i and iii

C) iiand iv D) i, ii and iii

Who is the author of the Book Readings on

the theory and practice of Medical social
work ?

(A) S. Pathak

(B) Goldstrine Dora
(€)

(D)

Mary Richmond
Helen Perlman
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63.

64.

65.

66.

g

Consider the following statement and
answer according to the codes given
below :

Assertion (A): Active family involvement

in early childhood
education shows a
demonstrative effecton the

basic skills of children.

Reason (R) : The respect between
teacher and parent is
critical element in helping
a child develop positive
self esteem.

(A) (A) is correct where as (R) is

incorrect

(B) Both (A) and (R) are incorrect

(C) Both (A) and (R) are correct and (R)
is the not correct explanation of (A)

(D) (A) is incorrect whereas (R) is
correct

Bulimia is a

(A) Sleeping Disorder

(B) Mood Disorder

(C) Eating Disorder

(D) Thought Disorder

“Work done by number of Associates,
each doing a clearly defined portion of
their work, subordinating their personal

prominence to the efficiency of the whole”
this definition is related to

(A) Case work (B) Group work
(C) Team work (D) Welfare work

“The belief that a person’s perception of
himself and the environment including
significant others are reality for the
person”. This theory is know as

(A) Perception theory
(B)
(C) Motivation Theory
(D) Self Theory

Personality Theory

22
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67. Transference means :

(A) Client’s feelings and attitudes
towards worker in the therapeutic
relationship

(B) Worker’s feelings and attitudes
towards client

(C) Family members attitudes and feelings
towards client

(D) Family members feelings and attitudes
towards worker

68. Match the following, answers in codes.
Therapy Proponent
a) Free Association i) Carl Rogers
b) Transactional ii) Albert Ellies
Analysis
c) Rational i) S. Freud
Emotive
Therapy
d) Client centred iv) Eric Berne
therapy
a b c d
(A) i i iv i
(B) i iv i [
(C) iv i i [
(D) v [ iii i

69. The UNICEF convened the “Global child
survival call to action : A Promise to keep”
summit in Washington D.C. to meet the

needs of :
i) Reproductive Health
i) Maternal Health

iii) New born Health.

)
)
iv) Child’s Health
v) Adolescent Health
A) iandii B) ii, iii and iv
C) iii, ivand v D) i, ii, iii, ivand v
g 23
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70.

71.

72.

73.

g

Consider the following statements and
answer according to the codes given
below :

Assertion (A): People in rural areas
generally avoid early
diagnosis and treatment
for their physical
ailments.

. Lack of awareness is still
prevailing in rural areas.

Reason (R)

(A) (A) is correct and (R) is incorrect
(B) (A) is incorrect and (R) is correct
) Both (A) and (R) are incorrect

)

Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(C
(D

The community development programme
was launched on a pilot basis in the year

(A) 1947 (B) 1949

(C) 1952 (D) 1951

The 73" and 74" constitutional amendments
passed by parliament in the year

(A) December 1992

(B) December 1995

(C) December 1990

(D) December 2000

The following projects are forerunners of

the Community Development Programme
in India.

i) Etawah Project

ii) Sriniketan Project
iii) Marthandam Project

Choose the correct sequence form the
foIIowmg

(A) i
B) i Qi i
C) i i
(D) i

—
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70.

71.

72.

73.

52 @08 S5RGS ST VO 8375750 §ES°
FI50Ce.

JGeasan (A) : [rabene) JPEESEIonT 650
T0CE SomBed B0BNSD
G AT, D80
(amiictalet]

St (R) @ rdred esmesrard o
OZET &D.

(A) (A) 53250 Sodakw (R) &5y

(B) (A) $05 ¢ 5080k (R) 5856

(C) (A) 500010 (R) &0 Bocr H08E 576

(D) (A) 50005 (R) Boci> 5858 (R), (A)

GJ20E); 0K DDTEN

2065 FERGHT $507750e] BIoSR06T TEIESTe
) @o:sééacioés @rE080WBER0E ?

(A) 1947 (B) 1949
(C) 1952 (D) 1951

D DoBB oS 73, T4 oraroN ¥B S0

2ONAEDD ?
(A) Goowb 1992 (B) ot 1995
(C) &o26 1990 (D) &o26 2000

B2 (o8 A FBEHoo S50l BSoTR00eS
@PIT0 500080 (PSoOTE

i) Dz @“23%
BIEeS ey

iii) Sororodio R
(A

(B
(C
(D

)
)
)
)
)
)
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74.

75.

76.

77.

78.

79.

g

Which article of constitution specifies
reservation of SC and ST in Panchayath
Raj ?

(A) 234 D
(C) 254 B

(B) 243 D
(D) 240 D

In which Article of the constitution the
Word ‘Minority’ is mentioned ?

(A) Articles 29 and 30
(B) Articles 24 and 25
(C) Articles 120 and 121
(D) Articles 242 and 243

According to the 2011 census what is the
literacy rate of women in India ?

(A) 70.5 (B) 65.46
(C) 74 (D) 68.26

Discontent with existing conditions in the
community must initiate and or nourish the
development of the association. This is the
principle of which method of social work ?

(A) Social Action

(B) Community Organisation
(C) Community Work

(D) Group Work

Which colour represents the ration card
given to below poverty line groups in
Telangana ?

(A) Pink
(B) Red
(C) White
(D) Green

The Planning Commission of India is
replaced by

(A) NITI Ayog
(C) NIDHI Ayog

(B) VIDHI Ayog
(D) NIMI Ayog
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74.

75.

76.

77.

78.

79.

5 O°ergol (HETE0 00 Z)@iz’%eg SCSIORSES

300050 BHOKH HoT oD TS DestieoeD
935008 2

(A) 234D (B) 243D

(C) 254 B (D) 240D

0l (soogrsHes) ey Sy D 355es”
FOtIHOTES 9

(A) 055 29 50805 30
(B) &35 24 53005 25
(C) 056 120 o803 121
(D) 055 242 558030 243

2011 esogr 35,0 B5°00 aroBiEod” eogs
Qo ol ?

(A) 70.5
(C) 74

(B) 65.46
(D) 68.26

§50752e38° &9y 00PBo00, BRVABSH
50800, end DD, 30 FIS 58, oy,
D358 (og&) 2
%]
(A) oz 56
(B) sxa5gdel esspaing
(C) 5507503 36,
(D) &% 56,

Boorerd” Oy B NN &by THD 3
3309570 B oS’ ool 2

(A) 205
(B) 3&

(C)

(D) e300

DY)

(Kerdse HSoo fgzsoess 5 R0
@PSoNOTE: ?
(A) DS escBrh

(C) 26 3R

(B) 26 esaBh
(D) D20 esca3eh
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80.

81.

82.

83.

g

Which of the following is not a sustainable
Development Goal ?

(A) Economic Growth

(B) Reduced Inequalities

(C) Transparency in Governance

)
)
)
(D) Good health and well being

Arrange the 4 world conferences on
women held in an asending order (first
conference to the last conference)
i) Beijing
Copenhagen

iii) Nairobi

)
)
iv) Mexico
A) i i ii
)
)
)

(
(

o)

ii iii
(C
(D

v i i i

i v i i

One of the following is an involuntary
group

(A) Family of Orientation

(B)
(C)
(D)

Family of Procreation

Empty Family

Female Headed House hold

Who coined the term ‘Isolated Nuclear

Family ?

A)

B)
)
)

(A) Talcott Parsons
(B) David Cooper
(C) William J. Goode

(D) Peter Murdock
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80.

81.

82.

83.

AR
59 300 e38” .53 HURD DB Do), 0§ 0
S0

(A
(B
(C
(D) $5502 Q:BSSK?SO

{DO)

T80 e‘éfﬂoiﬁé&o

) @
) ©
) TESEEE STES Babdy 0
)

(3008 H$07F° DITRTO0 @S58 e (§5008°
oPA0Cs.

5+ 300 TS DO PN DJTTHD ?
(A) 200 es5 £.80006355

(B) F7500 &b (@8adnd

(C) o 20D

(D) 308 ek 70 S

PG BoBand Tl ey ATy 5w
BATAOTEH 9

(A) eremeS 76,5
(B) &2E 5795

(C) 205> 8. 0
(D) 5655 Bo0B5
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84.

85.

86.

87.

g

Structural differentiations means

(A) Taking away of the functions of the
family by other institutions

(B) Family is taking away of the functions
of other institutions

(C) Family is structurally different
(D) Differences in family are significant

Cases of childrens in conflict with law be
placed before one of the following under
the juvenile justice Act

(A) Child Welfare Committee
(B) Juvenile Justice Board

(C) Child Line

(D) Child Guidance Committee

In which of the following sectors women
are concentrated in terms of their
Participation

(A) Unorgranised Sector
(B) Organised Sector
(€)

(D)

Industrial Sector
Educational Sector

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A): In India child sex ratio is
falling significantly.

Female foeticide is a
responsible for the falling
child the ratio in India.

Reason (R) :

In the context of the above statements,
which one of the following is true or false ?

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
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84.

85.

86.

87.

BHOS E5050035G,) ol
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(B) 225 Hoge Doy Hencwo Sio8tHeo
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(D) Hexo0s ST (7R00PONT €060

296208 g DD oo s Bod T3 ef
o0 $00650 EODIBI. 6 YT IAEI
(A) DT 595 520¢3

(B) ex5pd 23%35 &0

C) 2535

D) 2 haS,) 80e3

—

pes Py

Q00 FoNoS® AT TS 0eTA (A )

(A) 95050638 Soro

(B) 2050638 Soro

(C) Fo@E Soito

(D) Jmegsorio

B2 God 35S DG DO BRTGs0 §6yS°

R350C%.

e (A) 1 groBtEed” DY 2§ BLA
NEAdOXo0TT BIHB00B.

stee (R) 1 aroudEos” § 3 @oe
Srgeo & FHDo AN
B8 5200008,

(A) (A) 508050 (R) @0 Socr 50058

) (
(B) (A) 508w (R) ®o Socr &)
(C) (A) 5258, 522 (R) 8%
(D) (A) &%y, 522 (R) 5056
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88. Match List — I with List — Il and select the
correct option from the codes given below :

List -1 List -1l
a) The Hindu i) 1956
Marriage Act
b) The Hindu i) 1955
Succession Act
c) Child Marriage i) 1929
Restraint Act
d) Juvenile Justice Act
(care and protection) iv) 2015
of Children
a b c d
(A) i i iii iv
(B) i iii iv [
(C) iv [ i ii
(D) i v [ i

89. Match List | with List Il and select the
correct option from the codes given below :

List -1 List -1l
a) International Day i) 21s' Sept.
of the Elders
b) World Aids Day i) 1% Dec.
c) International i) 8™ March
Women’s Day
d) Alzheimer's Day iv) 1%t Oct.
Codes :
a b c d
(A) v i ii [
B) iv i i [
(C) ii iv [ i
(D) i [ iv i

90. In which year the National policy for
women empowerment was announced ?

(A) 1991 (B) 2001
(C) 2004 (D) 2008

g

88. 3 — 1233 — Il & esdidcoionon

o5 -1 &5~
a) oy I 940 i) 1956
b) Sroch $3y%S Beyo i) 1955
C) eroy e DY o il) 1929
d) es5pd w?g% 25

(S5 wo& (re%s) iv) 2015

a b c d

(A Qi i i v

B) i Qi v

(C) v i i i

(D) i v i i

89. 8% — 12 8% — Il & w5585 :

% -1 ORE |
a) wodTRdad He i) wyowd 21
o

b) ©50% Jocnky &¥5w0 i) Gnoed 1
C) wodgdak Soare i) $50)8

&do

d) esdEs0dy o iv) @5wb 1
55&0 .

a b c d
(A) v ii iii i
B) iv i ii i
(C) ii iv [ iii
(D) i i iv ii

90. O HoNBHTRN Vo2 TQS O eFAAL IFHO
DD 9

(A) 1991
(C) 2004

(B) 2001
(D) 2008
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91.

92.

93.

94.

g

Anthropometric measurements used in
early Criminology refer to

(A) Psychological measurements
(B)
(C) Measurement of 1.Q.
(D)

Physical measurements

Measurement of E.Q.

postulates that societal
factors such as poverty, membership of
subcultures or low levels of education can
predispose people to crime.

(A) Neuroticism
(B) Atavism
(C)
)

(D) Theory of evolution

Sociological positivism

Recidivists are those who
(A) Are convicts who repeat offences

(B) Specialise in property of related
offences

(C) Specialise in committing offences
against human body

(D) Are convicts who repeat sex offences
like rape
It was Cesare Baccaria who

(A) Propounded the theory of ‘white collar
crime’

(B) Propounded the theory of ‘born
criminal’

(C) Condemned torture and death
penalty

(D) Condemned the theory of
reformation

29

o1.

92.

93.
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Emrold” 206eT roFRoels Foden
GOAITPAOWEED 230ACE TP

(A) 25rR5d Sosen
(B) 7655 Soden
(C)
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BRACEIJ00 e

(A) Soren $o9) DaTed

(B) 552005 50830800 IT°0 e
(C) 5755 5555008 Joren DT
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250 DS OAIT DD 9D
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(B) &by 858 drrodstomrss
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95.

96.

97.

g

Differential Association Theory was
propounded by

(A) Messner and Rosenfeld
(B) Sutherland and Cressey
(C) Stafford and Ward

(D) Shaw and Mckay

The Supreme Court of India issued eleven
guidelines regarding arrest in 1997 which
included the following :
i) display the Supreme Court guidelines
in police stations ;

ii) Release accused on bail if he/she can
furnish security ;

iii) No one is permitted to be kept in a
police station without effecting the
arrest

iv) permit the accused to meet his
lawyer

(A) (i) and (ii)
(C) (i), (ii) and (iv)

(B) (i) and (iii)
(D) (i), (iii) and (iv)

Consider the following statements and
answer according to codes given below :

Assertion (A): Swift and certain
punishment of sufficient
severity can deter
people from crime.

Reason (R) : More probation benefits
to the convicted, better
will be the deterrence
and therefore better will

be the crime control

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are not true
(C) (A) is true but (R) is not true
(D) (A) is not true but (R) is true
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95.

96.

97.

T 0 RO A0
&;36520506 ePI0DS ?ocgoééo AT BoDD
80

(A) 2090 B08a> EH0pg
(B) ©5¢5er0b 558050 By
(C) 96 00050 T8

(D) 2r 500axn 03

1997 &° 2050 5§ 11 55gstys dr@ess
JNOO !
i) 2o0S 86 RESS, ;
i) 208075063 Aoes DGR Dekatso Daxco
iil) @505y S0t Sghery FOD PISD Bow ;
iV) Qo8BGS B roNEE HoRA0HIEIED
2300B0WNE0

(A) (i) S0 (ii)

)
(B) (ii) 500> (i)
(C) (i), (ii) 258055 (iv)
(D) (i), (iii) o003 (iv)

52 (808 VSN0 WA DRTPRH0 FI0Cs.

oeanes (A) 1 B0BOMT SBSH000D B8
9000 Daw (e300 Jo°e
By,

soea0  (R) 1 D599 @RS €0 Dopen

D028 SIS0 S508a%0 Do
QANOEHOWVEEB0H.

(A) (A), (R) o0 Bocir 5358 (R), (A) oo,
0 D96

(B) (A) 58050 (R) @0 B &35y
(C) (A) 5258 50 (R) 83y

(D) (A) 5256 5260 523 (R) S50
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98.

99.

100.

g

Match the following : 98. 22558008
LISt -1 List-1I @é =1 @% |
[) Strain Theory 1) Eg:akert Ezra 0 @ws BoHd 1) eraé - 37’52;
Il) Classical School 2) Edwin ) 285 god  2) S Sebeorels
Sutherland 1) &58Q0K0d 3) 2B Fosso
1) Differe_nt@al 3) Jeremy PFDA1NS BaHd
?ﬁzg(;;/atlon Bentham V) Js°F° S, S 4) U°aa§ E’wgﬁ
V) Chicago School 4) Robert Merton I I v
lLnm o A) 1 2 4
A 12 3 4 B) 3 1 4
® 3 1 2 4 © 3 2 1 4
) 3 2 1 4
D 4 3 2 1 G 4 3 2 1
Which is the agency that compiles crime | 99 afi‘j@aéoeﬁ 228y 35 850, BT
statistics in India ? 3908 2
(A) National Centre for Crime Statistics (A) 35056 20008 $5 33> Jredpk,
(B) National Centre for Strategic Studies (B) 356 20006 36 Jre3eh 9aS
(C) National Crime Records Bureau (C) 238 §_53 oG, w§65
(D) National Bureau for Crime and Prison (D) 3256 args” 96 E50 3oBaY Dwd
Statistics eI
Arrange the fpllowipg in the porrect years | 100. - 20 3B BoBBTe WS (E500d
of sequence in their ascending order. “
oPa0Cs.
i) Commissions for Protection of Child . -
) Rights Act i) 82008 $6 @EES D P e A°E
ii) Madras Children Act i) Soeh DS af
i) The NCPCR was set up by the Govt. ii) wfé ©abS0 05 8 IS, B. . . &b
of India ~LR0000.
iv) United Nations Adopted Convention V) 0XoR@E VG DT DD DO TE,©
on the Rights of the Child NSRS
(A) v i i (A) v i i
B) v i il i B) v i i i
©) i i i v ©) i i i v
(Dy i v 0 i (D) i iv0 i
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